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Note: Answer any five questions. All Question carry equal marks.
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'ffiq m' frteri xrr{ d dl-i t? {a-dr{n I s+fi q?FTq d ffiq fuq at frt"rqr
What are the various types of 'financial Decisions'? Mention them and di each types of tlnancial
decision.

ar+r erBoqq styq afi gemr erq orRE q"r skq tt otffi r

Compare the objective of profit maximisation with that of the wealth

ffi E-qBr qqr t? wrsr{a m"n g{ft {qBr o1 An- frm dI Aa-rmr otfuri I

What is capital budgeting? explain and discuss the various techniques of budgeting.
e\tffi ft. d s-qq d wqa dr qffirqrq (A) opn (B) trqrsrtfrq t r sqFrdrr frqqrr sfiI{t-
Two project A and B are before consideration of the management of Torex
are-

qffiqqT A
project A

The particulars available

qMf,{r B

project B

drItfl lnq-A fr 1o,ooo

Cost (in Rs.)
ontro fi-dn (qql t) 4

Economic life (in years)

6rs d fd oen or d qrq o1 onq

Earnings before Depreciation after tax
q{-r s,ooo

Year- I

q{-z 4,ooo

Y ear-Z
q{-s 3,ooo

Year-3
q{-a 1,ooo

Year-4
qd-s

Year-5
q{-o

Year-6
fr,fl qffirqr o\ a+ar qrtri? fdfuf'r w err+qr*fud renq ftft o-r rqt'r offii f

Which proiect should be prefbrred? Use unadjusted return on investment
frfurq Tretft fuq td Brnq snv 5fr at orro ffi.H FFr{ tt qrq {rfi-t t?
How do you measure the cost of capital in making investment decision?
EiTft of x"r eilrrflr qqr t? orrq mq qrrrflr ot qN drt o.tt?
What is debt capacity of a company? How will you measure the debt
ffifuf, Hqei tr qfund{ Efortq, ffirq Efr{tq qq frBa ffrrn a} q-q-qr qftm-
Calculate operating leverageo financial leverage and combined leverage form
frrtl 2,oo,ooo E?F-r{qi, es. yft E6T{
Sales 2,00,000 Units @ 2 per unit
qRrd=ntra dr-rtcT sfr {fid
Variable cost per unit
tP.IIfr drII(T

Fixed cost
w [dl w 6il-q

Interest charge on Debit capital

10,000

1,000

2,000

3,000

4,000

5,000

6,000

following data-

6

5.

6.

7

7,336

2,00,000



qtfrtrflffi q ftil{ sqFrrT o1 qrqr otm I {s BrnrrrT aft {ffi znn tz
Explain the Modigliani-Miller approach. What are the limitations of this
'.FTdyfta{ Xfr rm HIEFT t q fil q{rEa" I Er+ 6QFr at f{n?rqr fifrrn oft v{ treE'r {sE qftfu} til fq frEfufr rnetT9.

10.

frt ordyftfl Xdt of onqr*rdr uF) yril-F{f, o-rfr d r

Working capital is a means and not an end. " discuss this statement and
inf-luence the working needs of a manufacturing undertaking,

the factors which

l8 and 2019, you are required

charges-

31 103120 l 9

1,90,000

1,69,000

74,000

M,200

8,000

5,000

31 qrd zora q 201g oi *ft q-< +6q d frrq @ t cnq o'r frTdqhd [ffi d of orgqfl e=rr?Dr ordyfrn Tfr {
Et qfu{dq o} qnf-{T g-

From the following balance sheet of Shri chandra Mohan, as at 3lst March
to show the charges to working capital position by preparing a schedule of working

3t/03t2018
qqq 2,00,000

Building
Errd 1,50,000

Plant
{trq 1,oo,ooo

stock

t_firv Bo,ooo

Debtors

tw 5oo

cash

t-6 t'rE

Bank balance
cqrfr
Goodwill

600

ciYr Tfr, ros. q[d

share capital @ l0/- each

r{Fdfr

General Reserve
dlrrrB Errf,r

I'IL AIC
ilo x"r
Bank Loan
+il<tY

Creaditors
oq d ftri yrqqn

Provision for tax

2,00,000

50,000

30,500

70,000

1,50,000

30,000

30,600

35,000

5'l


